## An extension of the curious binomial identity of Simons

## NECDET BATIR and SEVDA ATPINAR

In 2001 Simons [1] discovered a curious binomial identity which can be written as

$$\sum_{k=0}^{n} \binom{n}{k} \binom{n+k}{k} x^{k} = \sum_{k=0}^{n} (-1)^{n+k} \binom{n}{k} \binom{n+k}{k} (x+1)^{k}.$$
 (1)

Identity (1) has received the attention of many researchers and proofs by using a variety of techniques has been given by different authors. Chapman [2] gave an elegant and short proof using a generating function method. In [3] Prodinger presented another nice proof of it using the Cauchy integral formula. Wang and Sun [4] gave a very short proof using a special linear transformation on the space of polynomials. Munarini [5], by using the Cauchy integral formula, offered the following generalisation of (1)

$$\sum_{k=0}^{n} {\binom{\alpha}{n-k}} {\binom{\beta+k}{k}} x^{k} y^{n-k}$$

$$= \sum_{k=0}^{n} (-1)^{n+k} {\binom{\beta-\alpha+n}{n-k}} {\binom{\beta+k}{k}} (x+y)^{k} y^{n-k}.$$
(2)

Note that (2) reduces to (1) when we put  $\alpha = \beta = n$  and y = 1. See also the related papers [6], [7], [8] and [9]. The aim of this short Article is to provide the following extension of identity (1) by means of basic calculus. For any non-negative integers *m*, *n*, and any complex number *x* we have

$$\sum_{k=0}^{n} \binom{n}{k} \binom{m+k}{k} x^{k} = \sum_{k=0}^{n} (-1)^{n+k} \binom{n}{k} \binom{m+k}{k} (1+x)^{k}, \qquad (3)$$

where  $\binom{m+k}{n}$  is counted as zero when n > m+k. We can now give a

proof of (3). Our proof is a modification of the method used in [1] and uses the Leibniz rule for the product of two differentiable functions and Taylor's theorem. We believe that this unusual application of calculus will be interesting and useful for undergraduate students. In order to prove this identity we need to define

$$g(x) = \sum_{k=0}^{n} {\binom{n}{k}} {\binom{m+k}{k}} x^{k},$$
(4)

and k = 0, 1, 2, ..., n

$$f_k(x) = x^{m+k} (k = 0, 1, 2, ..., n).$$
(5)

Differentiating (5) m times with respect to x we find

$$f_k^{(m)}(x) = (m+k)(m+k-1)\dots(k+1)x^k = \frac{(m+k)!}{k!}x^k,$$

so that

$$\frac{f_k^{(m)}(x)}{m!} = \binom{m+k}{k} x^k.$$
(6)

Thus, substituting (6) into (4) we have

$$g(x) = \sum_{j=0}^{n} {n \choose j} \frac{f_{k}^{(j)}(x)}{j!} = \frac{1}{m!} \frac{d^{m}}{dx^{m}} \left( x^{m} \sum_{k=0}^{n} {n \choose k} x^{k} \right)$$
$$= \frac{1}{m!} \frac{d^{m}}{dx^{m}} \left[ x^{m} (1+x)^{n} \right].$$
(7)

Since g is a polynomial of degree n, we have  $g^{(k)}(x) = 0$  for  $k \ge n + 1$ . Thus, its Taylor polynomial at x = -1 is

$$g(x) = \sum_{k=0}^{n} \frac{g^{(k)}(-1)}{k!} (1 + x)^{k}.$$
 (8)

By (7) we have

$$g^{(k)}(x) = \frac{1}{m!} \frac{d^{m+k}}{dx^{m+k}} \left[ x^m (1+x)^n \right].$$
(9)

For n times differentiable functions f and g the Leibniz's rule implies that their product is also n times differentiable and

$$(f(x)g(x))^{(n)} = \sum_{k=0}^{n} \binom{n}{k} f^{(n-k)}(x) g^{(k)}(x).$$

Here we adopt the notation  $h(x)^{(n)}$  for  $h^{(n)}(x)$ . Applying Leibniz rule to (9) we have

$$g^{(k)}(x) = \frac{1}{m!} \sum_{p=0}^{m+k} {m+k \choose p} (x^m)^{(m+k-p)} ((1+x)^n)^{(p)}.$$
 (10)

Note that  $(x^m)^{(m+k-p)} = 0$  for p < k. Then we can easily show that for  $p \ge k$ 

$$(x^m)^{(m+k-p)} = \frac{m! x^{p-k}}{(p-k)!}$$
 and  $((1+x)^n)^{(p)} = \frac{n! (1+x)^{n-p}}{(n-p)!}$ .

Substituting these two identities in  $\left(10\right)$  and simplifying the resulting identity one gets that

$$\frac{g^{(k)}(x)}{k!} = \sum_{p=k}^{m+k} \binom{m+k}{p} \binom{p}{k} \binom{n}{p} x^{p-k} (1+x)^{n-p}.$$

THE MATHEMATICAL GAZETTE

Putting x = -1 gives

$$\frac{g^{(k)}(-1)}{k!} = (-1)^{n+k} \binom{m+k}{n} \binom{n}{k}.$$
 (11)

Substituting (11) into (8), the conclusion follows. It is worth noting that  $\binom{m+k}{n}$  appears on the right-hand side of (3), not  $\binom{m+k}{k}$  as in (1). Clearly (3) reduces to (1) when we set m = n.

## Remark

Formula (2) enables us to derive many binomial coefficient identities by specialising the parameters  $\alpha$  and  $\beta$ . If we set  $\alpha = n$  and y = 1, and note that

$$\binom{\beta}{n-k}\binom{\beta+k}{k} = \binom{n}{k}\binom{\beta+k}{n},$$

we can rewrite (2) as follows: For real numbers  $\beta$ , other than negative integers, integers  $n \ge 0$ , and  $x \in \mathbb{R}$ ,

$$\sum_{k=0}^{n} \binom{n}{k} \binom{\beta+k}{k} x^{k} = \sum_{k=0}^{n} (-1)^{n+k} \binom{n}{k} \binom{\beta+k}{n} (1+x)^{k}.$$
 (12)

(a) If we set  $\beta = -\frac{1}{2}$  in (12), we get

$$\sum_{k=0}^{n} \binom{n}{k} \binom{-\frac{1}{2} + k}{k} x^{k} = \sum_{k=0}^{n} (-1)^{n+k} \binom{n}{k} \binom{-\frac{1}{2} + k}{n} (1+x)^{k}.$$
 (13)

We have

$$\begin{pmatrix} -\frac{1}{2} + k \\ k \end{pmatrix} = \frac{\Gamma\left(k + \frac{1}{2}\right)}{k! \Gamma\left(\frac{1}{2}\right)} = \frac{1}{4^k} \begin{pmatrix} 2k \\ k \end{pmatrix}$$

and

$$\binom{-\frac{1}{2}+k}{k} = \frac{\Gamma(k+\frac{1}{2})}{n!\,\Gamma(\frac{1}{2}+k-n)} = \frac{(-1)^{n+k}\binom{2k}{k}\binom{2n-2k}{n-k}}{4^n\binom{n}{k}},$$

both of which follow from Legendre's duplication and reflection formulas for the classical gamma function  $\Gamma$ . See, for example, [10]. Replacing the last two identities in (13) it follows that

$$\sum_{k=0}^{n} \binom{n}{k} \binom{2k}{2k} \frac{x^{k}}{2^{2k}} = \frac{1}{2^{2n}} \sum_{k=0}^{n} \binom{2k}{k} \binom{2n-2k}{n-k} (1+x)^{k}.$$
 (14)

272

(b) For brevity we write  $B_k = \binom{2k}{k}$ . For the values x = 0 and x = -1 in (14) we obtain the following interesting identities, respectively:

$$\sum_{k=0}^{n} B_k B_{n-k} = 4^n, (15)$$

and

$$\sum_{k=0}^{n} (-1)^{k} \binom{n}{k} \frac{B_{k}}{4^{k}} = \frac{B_{n}}{4^{n}}.$$

(c) If we set  $\beta = -\frac{1}{2} + n$  and x = 0 in (12) we obtain

$$\sum_{k=0}^{n} (-1)^{k} {\binom{n}{k}} {\binom{-\frac{1}{2} + n + k}{n}} = (-1)^{n}.$$

Using the Legendre duplication formula for the gamma function once more we find immediately that

$$\binom{n}{k} \binom{-\frac{1}{2} + n + k}{n} = \frac{n!}{k! (n - k)!} \frac{\Gamma(n + k + \frac{1}{2})}{n! \Gamma(k + \frac{1}{2})}$$
$$= \frac{1}{4^n} \binom{2n + 2k}{2k} \binom{2n}{n + k},$$

which leads to

$$\sum_{k=0}^{n} (-1)^{k} \binom{2n+2k}{2k} \binom{2n}{n+k} = (-4)^{n}.$$

Identity (15) is not new and was posed as a problem in Sved [11]. In the literature, many different proofs of it appeared. For a brief account of this nice identity we refer to [12] and [13].

(d) Putting  $\beta = -\frac{1}{2} - n$  in (12) and proceeding as above we get

$$\sum_{k=0}^{n} \frac{(-1)^{k}}{4^{k}} \binom{2n}{2k} \binom{2k}{k} x^{k} = \frac{1}{4^{n}} \sum_{k=0}^{n} (-1)^{k} \binom{2n}{k} \binom{4n-2k}{2n} (1+x)^{k}.$$

For x = -1 this leads to

$$\sum_{k=0}^{n} \frac{1}{4^{k}} \binom{2n}{2k} \binom{2k}{k} = \frac{1}{4^{n}} \binom{4n}{2n}$$

References

- 1. S. Simons, A curious identity, Math. Gaz. 85 (July 2001) pp. 296-298.
- R. Chapman, A curious identity revisited, *Math. Gaz.* 87 (March 2003) pp. 139-141.
- 3. H. Prodinger, A curious identity proved by Cauchy's integral formula, *Math. Gaz.* **89** (July 2005) pp. 266-267.
- 4. X. Wang and Y. Sun, A new proof of a curious identity, *Math. Gaz.* **91** (March 2007) pp. 105-106.
- 5. E. Munarini, Generalization of a binomial identity of Simons, *Integers: Electron. J. Combin. Number Theory*, **5** (2005) A15.
- 6. C. Wei, Y. Wei and C. Li, Some summation and transformation formulas from inversion techniques, *Integers*, **22** (2022) A95.
- M. Shattuck, Combinatorial proofs of some Simons-type binomial coefficient identities, *Integers: Electron. J. Combin. Number Theory*, 7 (2007) A27.
- 8. M. Hirschhorn, Comments on a curious identity, *Math. Gaz.* 87 (November 2003) pp. 528-530.
- 9. A. Xu and Y. Cen, Combinatorial identities from contour integrals, *Ramanujan J.*, **40** (2016) pp. 103-114.
- N. Batir and A. Sofo, Finite sums involving reciprocals of the binomial and central binomial coefficients and harmonic numbers, *Symmetry*, 13(11) (2021)
- 11. M. Sved, Counting and recounting, *Math. Intelligencer*, **4** (1983) pp. 21-26.
- N. Batir, H. Küçük and S. Sorgun, Convolution identities involving the central binomial coefficients and Catalan numbers, *Transactions on Combinatorics*, **10** (2021) pp. 225-238.
- 13. M. Sved, Counting and recounting: the aftermath, *Math. Intelligencer*, **6** (1984) pp. 44-46.

## NECDET BATIR and SEVDA ATPINAR

 10.1017/mag.2024.67 © The Authors, 2024
 Department of Mathematics,

 Published by Cambridge University Press
 Nevşehir Haci Bektaş Veli University,

 on behalf of The Mathematical Association
 Nevşehir, 50300 Turkey

 e-mails: nbatir@hotmail.com, nbatir@nevsehir.edu.tr,

sevdaatpinar@nevsehir.edu.tr